

Review of Ch 10

Note Title

۲۲/۰۵/۲۱

Answer the following questions

1) Find the following limits:

$$a) \lim_{n \rightarrow \infty} \frac{n^2 \ln n}{3^n} \left(\frac{\infty}{\infty} \right) \stackrel{L.R.}{=} \lim_{n \rightarrow \infty} \frac{n^2 \cdot \frac{1}{n} + 2n \ln n}{3^n \ln 3}$$

$$= \lim_{n \rightarrow \infty} \frac{n + 2n \ln n}{3^n \ln 3} \left(\frac{\infty}{\infty} \right) \stackrel{L.R.}{=} \lim_{n \rightarrow \infty} \frac{1 + 2n \cdot \frac{1}{n} + 2 \ln n}{3^n \ln^2 3}$$

$$= \lim_{n \rightarrow \infty} \frac{3 + 2 \ln n}{3^n \ln^2 3} \left(\frac{\infty}{\infty} \right) \stackrel{L.R.}{=} \lim_{n \rightarrow \infty} \frac{2/n}{3^n \ln^3 3}$$

$$= \lim_{n \rightarrow \infty} \frac{2}{n 3^n \ln^3 3} = 0$$

حل 2
بکار ببریم قضیه Sandwich! اینجا را هم می بینیم
که $1 < \ln n < n^r$ برای $r > 0$ و n بزرگ است. کبر شد کافی
باشد. $r=1$ می باشد.

$$\frac{n^2}{3^n} < \frac{n^2 \ln n}{3^n} < \frac{n^3}{3^n}$$

as $n \rightarrow \infty$

$\downarrow$ $\downarrow$ $\downarrow$

0 0 0

by L.R. $\lim_{n \rightarrow \infty} \frac{n^2}{3^n} = 0$ and $\lim_{n \rightarrow \infty} \frac{n^3}{3^n} = 0$.

so by Sandwich Thrm, $\lim_{n \rightarrow \infty} \frac{n^2 \ln n}{3^n} = 0$.

$$b) \lim_{n \rightarrow \infty} (3^n + 5^n)^{\frac{1}{n}} \left(\infty^0 \right)$$

consider $\lim_{n \rightarrow \infty} \ln (3^n + 5^n)^{\frac{1}{n}} = \lim_{n \rightarrow \infty} \frac{\ln (3^n + 5^n)}{n} \left(\frac{\infty}{\infty} \right)$

$$\stackrel{L.R.}{=} \lim_{n \rightarrow \infty} \left(\frac{3^n \ln 3 + 5^n \ln 5}{3^n + 5^n} \right) = \lim_{n \rightarrow \infty} \frac{\left(\frac{3}{5} \right)^n \ln 3 + \ln 5}{\left(\frac{3}{5} \right)^n + 1} = \boxed{\ln 5}$$

$$c) \lim_{n \rightarrow \infty} \frac{3^n 6^n}{2^n n!} = \lim_{n \rightarrow \infty} \frac{2^n 3^n 6^n}{n!} = \lim_{n \rightarrow \infty} \frac{(36)^n}{n!} = 0$$

2) Find the sum of the following series:

$$a) \sum_{n=0}^{\infty} e^{-2n} (2^n - 1) = \sum_{n=0}^{\infty} \left(\frac{2^n}{e^{2n}} - \frac{1}{e^{2n}} \right)$$

$$= \sum_{n=0}^{\infty} \left(\left(\frac{2}{e^2} \right)^n - \left(\frac{1}{e^2} \right)^n \right)$$

$$\sum_{n=0}^{\infty} \left(\frac{2}{e^2} \right)^n = \frac{1}{1 - \frac{2}{e^2}} \approx 1.371 \quad (\text{G.S.}, \left| \frac{2}{e^2} \right| < 1)$$

$$\sum_{n=0}^{\infty} \left(\frac{1}{e^2} \right)^n = \frac{1}{1 - \frac{1}{e^2}} = 1.1565 \quad (\text{G.S.}, \left| \frac{1}{e^2} \right| < 1)$$

$$\therefore \sum_{n=0}^{\infty} e^{-2n} (2^n - 1) = 1.3711 - 1.1565 = \boxed{0.2146}$$

$$b) \sum_{n=1}^{\infty} (\tan n - \tan(n-1))$$

Sol: The series is telescoping.

$$S_1 = \tan 1 - \tan 0, \quad S_2 = (\tan 1 - \tan 0) + (\tan 2 - \tan 1) = \tan 2 - \tan 0$$

$$S_3 = (\tan 1 - \tan 0) + (\tan 2 - \tan 1) + (\tan 3 - \tan 2) = \tan 3 - \tan 0$$

$\vdots$

$$S_n = (\tan 1 - \tan 0) + (\tan 2 - \tan 1) + \dots + (\tan n - \tan(n-1)) = \tan n - \tan 0$$

$$\therefore S_n = \tan n$$

لا يتقارب $\tan n$ لأي قيمة في $\mathbb{R}$ على أي فترة طولها π لأن $\tan n$ يتقارب إلى $\pm \infty$ كلما اقترب n من $\frac{\pi}{2} + k\pi$ حيث $k \in \mathbb{Z}$.
 لذلك، $\lim_{n \rightarrow \infty} S_n$ د.ن.ع. و hence the series diverges.

3) For what values of α , the G.S. converges and what is the sum

$$\sum_{n=0}^{\infty} (\sin \alpha)^n = 1 + \sin \alpha + \sin^2 \alpha + \dots$$

Sol: Clearly, the series is geometric series with $r = \sin \alpha$, so it converges when $|\sin \alpha| < 1$
 or $\alpha = (2n+1)\frac{\pi}{2}$, $n \in \mathbb{Z}$ (كـمـا كـانـتـهـا قـدرهـا $\frac{\pi}{2}$)
 Since $\sin((2n+1)\frac{\pi}{2}) = \pm 1$

and the series converges to $\frac{1}{1 - \sin \alpha}$.

Determine whether the following series converge, converge abs., converge conditionally or div.?

4) $\sum_{n=1}^{\infty} \frac{n + \sqrt{n} - 1}{n + n^3}$

Sol: Take $a_n = \frac{n + \sqrt{n} - 1}{n + n^3}$, $b_n = \frac{n}{n^3} = \frac{1}{n^2}$,

$\sum b_n = \sum \frac{1}{n^2}$ converges (p-series, $p = 2 > 1$)

Consider $\lim \frac{a_n}{b_n} = \lim \left(\frac{n + \sqrt{n} - 1}{n + n^3} \right) \cdot n^2 = 1$

so by LCT, $\sum_{n=1}^{\infty} \frac{n + \sqrt{n} - 1}{n + n^3}$ converges.

5) $\sum_{n=1}^{\infty} \frac{n+1}{(5n+2)\sqrt{n}}$

Sol: Take $a_n = \frac{n+1}{(5n+2)\sqrt{n}}$, $b_n = \frac{n}{n\sqrt{n}} = \frac{1}{\sqrt{n}}$

$\sum b_n$ diverges (p-series, $p = \frac{1}{2} < 1$)

consider $\lim \frac{a_n}{b_n} = \lim \frac{n^{3/2} + \sqrt{n}}{5n^{3/2} + 2\sqrt{n}} = \frac{1}{5}$

so by LCT, $\sum \frac{n+1}{(5n+2)\sqrt{n}}$ diverges.

6) $\sum_{n=0}^{\infty} \frac{2^n + n}{(n+1)!}$

sol: Using ratio test:

$$\rho = \lim \frac{a_{n+1}}{a_n} = \lim \frac{2^{n+1} + (n+1)}{(n+2)!} \cdot \frac{(n+1)!}{2^n + n}$$

$$= \lim_{n \rightarrow \infty} \left(\frac{2 \cdot 2^n + n + 1}{2^n + n} \right) \cdot \left(\frac{1}{n+2} \right)$$

$$= \lim_{n \rightarrow \infty} \left(\frac{2 + (n+1)/2^n}{1 + \frac{n}{2^n}} \right) \cdot \frac{1}{n+2} = \left(\frac{2+0}{1+0} \right) \cdot 0 = 0$$

Since $\rho < 1 \Rightarrow$ The series converges.

7) $\sum_{n=3}^{\infty} \frac{(\frac{1}{n})}{\ln n \sqrt{\ln^2 n - 1}}$

sol: Let $f(x) = \frac{1/x}{\ln x \sqrt{\ln^2 x - 1}}$,

1) Clearly f is cont. $\forall x \geq 3$.

2) $f(x) > 0 \quad \forall x \geq 3 \quad (\ln^2 x > 1 \quad \forall x \geq 3)$

3) بما اننا اثباتنا تناقص الدالة باستخدام ان $\ln^2 x > 1$ و لكن نظرنا لصيغة دالة
 حاب فاستنتجنا اننا اثباتنا التناقص اكد باستخدام الكسوف
 $x_1 < x_2 \Rightarrow \ln x_1 < \ln x_2 \quad \dots \quad \textcircled{1}$

Moreover, for $x > 3$, $\ln x > 1 \Rightarrow \ln^2 x_1 - 1 < \ln^2 x_2 - 1$
 and hence $\sqrt{\ln^2 x_1 - 1} < \sqrt{\ln^2 x_2 - 1}$ --- (2)

$$\therefore \left(x_1 \ln x_1 \sqrt{\ln^2 x_1 - 1} \right) < \left(x_2 \ln x_2 \sqrt{\ln^2 x_2 - 1} \right)$$

$$\frac{1}{\left(x_1 \ln x_1 \sqrt{\ln^2 x_1 - 1} \right)} > \frac{1}{\left(x_2 \ln x_2 \sqrt{\ln^2 x_2 - 1} \right)}$$

or $f(x_1) > f(x_2) \Rightarrow f$ is $\searrow$.

Consider $\int_3^{\infty} \frac{1/x \, dx}{\ln x \sqrt{\ln^2 x - 1}} = \lim_{b \rightarrow \infty} \int_3^b \frac{1/x \, dx}{\ln x \sqrt{\ln^2 x - 1}}$

$$= \lim_{b \rightarrow \infty} \int_{\ln 3}^{\ln b} \frac{du}{u \sqrt{u^2 - 1}}$$

$$u = \ln x$$

$$du = \frac{1}{x} dx$$

$$x = 3 \longrightarrow u = \ln 3$$

$$x = b \longrightarrow u = \ln b$$

$$= \lim_{b \rightarrow \infty} \left[\sec^{-1} |u| \right]_{\ln 3}^{\ln b}$$

$$= \lim_{b \rightarrow \infty} \left[\sec^{-1} |\ln b| - \sec^{-1} |\ln 3| \right] = \frac{\pi}{2} - \sec^{-1} |\ln 3|$$

$\Rightarrow$ by integral test $\sum_{n=3}^{\infty} \frac{1/n}{\ln n \sqrt{\ln^2 n - 1}}$ converges.

$$8) \sum_{n=1}^{\infty} \frac{\ln(10 + e^{2n})}{2^n}$$

sol: Consider $\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \frac{\ln(10 + e^{2n})}{2^n} \left(\frac{\infty}{\infty} \right)$

$$\stackrel{\text{L.R.}}{=} \lim_{n \rightarrow \infty} \left(\frac{2e^{2n}}{10 + e^{2n}} \right) / 2 \left(\frac{\infty}{\infty} \right) \stackrel{\text{L.R.}}{=} \lim_{n \rightarrow \infty} \frac{2e^{2n}}{2e^{2n}} = 1 \neq 0$$

So the series diverges by n th-term test.

$$9) \sum_{n=2}^{\infty} \frac{(-1)^n}{n \ln \sqrt{n}}$$

sol: The series of abs. values $\sum_{n=2}^{\infty} \frac{1}{n \ln \sqrt{n}} = \sum \frac{2}{n \ln n}$

which is divergent by integral test (متباعد بالتكامل)

By AST, $u_n = \frac{2}{n \ln n}$

1) $u_n > 0 \quad \forall n \geq 2$

2) $u'_n < 0$ (decreasing) $\Rightarrow u_n \searrow$

3) $u_n \rightarrow 0$

so it is convergent conditionally.

$$10) \sum_{n=1}^{\infty} (-1)^{n+1} \frac{(2n+1)}{n} \left(\frac{1}{2}\right)^n$$

sol: The series of abs values is $\sum_{n=1}^{\infty} \left(\frac{2n+1}{n}\right) \left(\frac{1}{2}\right)^n$

$$\rho = \lim \frac{a_{n+1}}{a_n} = \lim \left(\frac{2n+3}{n+1}\right) \left(\frac{n}{2n+1}\right) \frac{2^n}{2^{n+1}} = 2 \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{2}$$

Since $\rho < 1 \Rightarrow$ by ratio test, the series of abs. values converges and hence the original series.

$$\sum_{n=1}^{\infty} (-1)^{n+1} \left(\frac{2n+1}{n}\right) \left(\frac{1}{2}\right)^n \text{ converges abs.}$$

$$11) \sum_{n=1}^{\infty} \frac{\sqrt{n+1}}{n^2 \sqrt{n} (3 + \cos n)} < ??$$

sol: $\sqrt{n+1} < \sqrt{n+n} = \sqrt{2} \sqrt{n} \quad \forall n \geq 1,$

and $\cos n > -1 \Rightarrow 3 + \cos n > 3 - 1 = 2$

$\therefore \frac{1}{3 + \cos n} < \frac{1}{2}$

$$\Rightarrow \frac{\sqrt{n+1}}{n^2 \sqrt{n} (3 + \cos n)} < \frac{\sqrt{2} \sqrt{n}}{n^2 \sqrt{n} \cdot 2} = \frac{1}{\sqrt{2} n^2}$$

Since $\sum \frac{1}{\sqrt{2} n^2}$ converges (p-series, $p=2 > 1$)

$\Rightarrow$ by DCT, $\sum \frac{\sqrt{n+1}}{n^2 \sqrt{n} (3 + \cos n)}$ converges.

12) Find the radius and the interval of conv. of the power series

$$\sum_{n=1}^{\infty} \frac{n!}{3 \cdot 6 \cdot 9 \cdots 3n} (2x-1)^n$$

Sol: The series of abs. values $\sum_{n=1}^{\infty} \frac{n!}{3 \cdot 6 \cdot 9 \cdots 3n} |2x-1|^n$

Using ratio test: $\rho = \lim \left| \frac{a_{n+1}}{a_n} \right|$

$$= \lim \frac{\cancel{(n+1)!} |2x-1|^{\cancel{n+1}}}{\cancel{3 \cdot 6 \cdot 9 \cdots 3n} (3n+3)} \cdot \frac{3 \cdot 6 \cdot 9 \cdots 3n}{\cancel{n!} |2x-1|^n}$$

$$= \lim \left(\frac{n+1}{3n+3} \right) |2x-1| = \frac{1}{3} |2x-1|$$

which is convergent when $\rho < 1 \Rightarrow -3 < 2x-1 < 3$

$$\Rightarrow -2 < 2x < 4 \Rightarrow -1 < x < 2$$

so the radius of convergent

$$R = \frac{2 - (-1)}{2} = \left[\frac{3}{2} \right]$$

مکملہ ہمارے: دیکھو آؤ

$$3 \cdot 6 \cdot 9 \cdots 3n = 3^n (1 \cdot 2 \cdot 3 \cdots n) = 3^n n!$$

و بالائی ممکنہ! کارے کتابہ کتابہ

$$\sum_{n=1}^{\infty} \frac{n!}{3^n n!} (2x-1)^n = \sum \left(\frac{1}{3} \right)^n (2x-1)^n$$

وہی مسئلہ ہندسہ با ناکہ سببہ خندہ / دیکھو

بستخدام طريقة (مسابقات) الهندسية، لكنه يستخدم الحد في النهاية يجب فحص الحدود.

At $x = -1$: The series is $\sum (-1)^n$ (بعد التبسيط) which is divergent -

At $x = 2$: The series $\sum 1^n = \sum 1$ diverges so the interval of convergence is $(-1, 2)$